EEIHE 2024/3/27

REX

INATIOYD

FEBOAIMMGX

tBnnﬁﬁ*ki%

2016%& 28

FSOAIIGX Y
[273026) -

F s ab

Fah
FgEA-T—424
A1) —<a
E—FabsFd

N & W M =




FS80AII GX BHEH A 2024/3/27
273026 1. FEAEEH




FS8O0AII GX EEHE  2024/3/27
273026 1. ¥EHEE
RE(HBRES HE| ZEEHM HmE
1 FO9A |[F#h& 1 103,950
2 FO9B |FNh/\— 1 6,470
3 W082 |/<A7UTERILE (M8 % 20) 2 150
4 FO9C |#&ERH/\— 1 6,240
5 W062 |77 UTERILE (M6 X 16) 4 150
6 F095 |EtR 1 2,080
7 W251 |7g~X/hRl (M5 X 8) 6 150
8 4905 |EEHARIL 2 16,640
9 WL4 [R5 EL (4% 10) 4 150
10 | F009 |RSAKNJLY 1 2,080
11 F022 |[R—RH/\— 1 570
12 | WW16 |CRZLEER (%HFH16) 1 150
13 | Fo46 |/8w¥> 1 410
14 | NO39 |AA)F¥yT (JL—) 2 150
15 | W684 |NAIUTEIEHRL (M) %EM8 X 14) 4 150
16 | WA42 |54 (R1) 1 570
17 | 4047 |RRL—F 1 1,050
18 AP —FH—2A L100mm7R 1 360
19 | WA55 |#vE Hl (M5 X 8) 1 150
20 | TO056 |[4F5kHETF 1 700
21 | 7J50 [ R—R/N\UK (10mm) 2 210
22 FO18 |AvHO L= 1 2,780
23 | N029 |B 9 EERFvYvT 1 700
24 | FO16 |YI¥p%2 1 4,860
25 7021 |[a—KJ>a 1 590
26 7099 |#H k)L ST-11 1 150
27 | W245 |/l (M4 x 20) 4 150
28 | FOOD [HAKH/N— 1 3,820
29
30 | F027 |FvvT 1 150
31 >k (M4) 4 150
32 | OFPK1S [3P(a]{E|zX)CTa—F GX 1= 7,520 EER)-TEE
33
34 | FGO1 |#gEERtEvh 1 32,340 JL—F4t4k
35 S/ U(R) (M4 % 12) 4 150
36 | N624 [@=I1F 1 2,080
37 F—LTL—hk 1 —
38 B ik (#4 % 5) 2 150
39 | OFSE1S |#lfHlARvyIREvk 1 75,080
40 | FGO2 [{EdEtR 1 2,080
41 | FGO9 [/\—=%X 1 2,310
42 | FG10 |E—b 1 700
43
44 | FG11 [ZwoH)vT 1 210
45 | ZN83 |4 i amwy 1 150 BofRia R A
HEAR YO 2 DA\ —EE R
1ZALAIZIEEHYFEB A,
W23A [FAa /Al M3 x 6t LAP41=4900 6 150 FGOO#H L FH




B A 2024/3/27

2. FEHER

FS80AIIGX
273026




FS8O0AII GX HEHHE  2024/3/27
273026 2. T EHER
HE(HBRES AR e | ZEE W E
1 02F1 |E#h—= 13 62,370
2 FO80 |ff{tRA—IL 1 22,180
3 4980 |Fruy—= (K-S) 1= 83,160
4 FHOO |FvyIAR{E 1 34,650
5 4JCJ [FruoEMN 148 24,260 345148
6 70KS |SEIFw T 1= 12,480
7 FS00 [giR~O—)L 1 15,250
8 F020 |#ERyO—)L—= 13 34,650
9 FOS3 |#%X&yO—)L 1 14,560
10 | FOS1 |RHO—)L% 1 10,400
11 | F0S2 |R&O—)LH/N— 1 6,240
12 | FOSS |R4&O—)LJI 148 5,550 37148
13 | F0S4 |J—=<HRILk (M5 x 15) 2 170
14 ERIML (M5 X 15) 4 150
15 | WG05 |[ThER (5) 4 150
16 | F0S5 |Fwhk (M5) 6 150
17 | WM64 |EftEY (6% 14) 3 150
18 | F008 |7oxwARRYLY 1 1,740
19 Urvhk (M6) 1 150
20 | F030 |7 ¥RRILT IS 1 150
21 | w069 [ARATUTERILE (M6 X 55) 1 150
22 | WO7A [RATUTERILE (M7 x 54) 6 150
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50




B A 2024/3/27

3. HEES-E—FH

F80AIIGX
273026




FS80AIIGX

BHEHA 2024/3/27

273026 3. {FEE-E—FE
HE(HBRES A H= | Z2HEHE M W E

1 FOOE |1F1E& 10D Rbyn' {5t 1 41,580
2 FO97 |Z/N1T(A) 1 13,860
3 F098 |52/X147(B) 1 10,400
4 F094 |REHT— 1 840
5 FO13 |iEY/\UEIL 1 6,930
6 F404 [EYUN\UERILIESHEY 1 880
7 G044 |FvF/\ILTtvk 1 4,160
8 W665 |7<EIUTELEHRL (kA %EME X 15) | 1 150
9 F032 |4F5%kHEF (58) 2 290
10 | zD13 |{F{E&H—A1207F 120mm#r 1 530
11 F033 |Fa—7(Fta (110) 1 180
12 | 2J50 |/R—R/\UK (10mm) 5 210
13 | G861 |10 RAbkw/N 1 360
14 | OFMT1S |[E—%GX (600W 100V) 1 104,540
15 | FM16 |h—RIRILS 2 2,550
16 | FM10 |h—R2 TS5 148 2,550
17 | FM17 |h—RoFxvvT 2 1,160
18 | F80P |AAIKRT VeI kD] 1 17,330
19 1035 |[PaA bk 2 290
20 | zD12 |k AK—A5505% 550mmR 1 1,050
21 M Hk—26707F 670mm7R 1 1,050
22 | w684 |RATUTEIEDHIL (R43) FEM8 x 14) 1 150 SVAD
23 | w051 [RATUTERILE (M5 X 16) 1 150
24 | 75563 |04 (S-63) 1 360
25 | WG08 [IEtaES (8) 2 150
26 | w083 [RATUTERILE (M8 x 25) 2 150
27 | 1013 |E—4%ETEH 1 210
28 | W787 |[RAUTIEHRL (ORITHEM8Xx22) [ 1 150
29 Fuk (M8) 1 150
30 | 1076 |hyr—=FEL 1 420
31 F401 |V)—<HRILF IESHRILE 1 850
32 FO072 |EIYi1EHRILEEAT— 1 150
33 | W556 [FZR/IhARL (M5 % 10) 1 150
34 >k (M6) 1 150
35 | WD12 |Fwk (M12=7&) 1 150
36

37

38

39

40

41

42

43

44

45

46

47

48

49

50




FS8OAIMI GX BEEHA 2024/3/217
273026 4. fyR-1)—<ER




FS8OAII GX HEHHE 2024/3/27
273026 4. AyR-1)—<TED
NE(HBRES A WE| BEEM W E
1 | OFCU1S [hva—= 15 34,650
2 8071 |HvHIL—L 1 17,330
3 FO12 [AvB/\UR)L 1 3,240
4 F024 |hyBHAR 1 8,780
5 | 135076 |Hv43H 1 | #VALUE! & ik
6 2471 |HvBEL (58) 1 360
7 | wNi2 [Z=IEY (#2.3 % 15) 3 150
8 3463 |hyBTia 1 420
9 1302 |RSRAKRTYLY (51102) 1 1,120
10 | F025 |AvREAEERL 1 5,550
11 | WL65 |RTYLHTEY (6% 28) 1 150
12 | 5079 |hyBE(R) 2 360
13 | 5074 |hvHO—5 2 700
| 14 | o 15-16% 21
| 15 | 8074 |hvia% F—(10x8x50) | 148 6,670
16 ATV E Y (3% 15)
17 | 8075 |[ik&HV) 5 1 700
18 | wWL37 [RTYLHEY (3% 25) 1 150
19 5075 |A—53 NEEER 2 5,780
20
21 | OFRM4S [))—<—= 1= 28,880
22 | F119 [J—=7RILE 1 12,140
23 1092 |')—<#d 1 2,780
24 | 1094 [|J—<igY 1 2,780
25 | wLat |[RTYHGEY (4% 10) 1 150
26 | PN23 [1J—<FH 1 13,860
27 | wLee [RT)YHTEL (8 % 35) 1 150
28 | wLs7 [RTYHEY (5% 35) 1 150
29 5096 |J—<7RILA (4 (8x10) 1 150
30 | WQO08 |fmxk (8) 1 150
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50




FS8O0AII GX B A 2024/3/27
273026 5. E—AEREELH

HE|BRES A HE | 1ZLEE W=
1 FM25 [/\<o4 1 15,020
2 FM16 [H—R1RILE 2 2,550
3 FM10 |h—R2 TS5 (251%8) 148 2,550
4 FM17 |h—HRoFvvT 2 1,160
5 | FMO5T |RT—%(100V) 1 24,400
6 | FMMT |RbyTTL—b 2 590
7 ERIML (M5 x 75) 2 150
8 | FM42T |J7>h/\— 1 1,160
9 | FMOIT |7Z<Fa7 (100V) 1 31,190
10 | S701 |R7YL5 (620022) 2 640
11 | FM43 |TA4RAVRE—R 1 700
12 1202 [R7)UG (620122) 5 950
13 | FM28 |A>F—H/\— 1 9,600
14 | FM26 |¥vH/\— 1 9,600
15 | FM24 |J4—RE=—#A2 (F—2RXEER)L) 1 8,670
16 | NM23 |H—KxY 1 6,300
17 | FM46 |$HF— 1 210
18 | 7IM30 |R7Y Y (630422) 1 2,030
19 | FM22 |H—FEZ#>-FY¥tvhk 14| 10170
20 | FM20 |thUFREZZ>-FY¥tyk 148 11,210
21 | WG05 |[FhFES (5) 10 150
22 | W255 |[HER/phRl (M5 x 25) 6 150
23 | W25B |G/l (M5 % 65) 2 150
24 T EE (5) 2 150
25 | FM47 |R"7yrsovy 2 150

FM1AT |)—=RD A (F:h—FVENT ©A19F) 1A 360




